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@ 1270g = kg 9 @ 16000g = kg
@ 3km 4m = m @ | 7km = m

® 2000kg = t (® 70000m = km
@ 60kg = g9 |t780kg = kg
® 109t = kg @ 1040m = km m
® 56900m = km m 630000kg = t
@ Ilkm 50m = m @ lkg =

2kg 800g g @ 2000m = km

@ 29000m = km @) 8kg 60g = g
9t 800kg kg @ lkm Im = m
(D 500km = m @ 1002m = km m
@ 9kg 3609 9 @ 1040kg = t kg




Y ARAY A

/24

B RECKRICEIIREINIEHFEANILLD,

@ 1270g =| | kg 270 g @ 16000g = | 6 kg
@ 3km 4m = 3004 m @ |7km = | 7000 m

@ 2000kg = 2 t ® 70000m = 70  km
@ 60kg =| 60000 g 1t780kg = 1780 kg
® 109t = 109000 kg @ 1040m = Il km 40 m
® 56900m = | 56 km 900 m 630000kg = 630 t
@ Ilkm 50m = 1050 m @ lkg = 1000 g

2kg 800g = 2800 g @ 2000m = 2 km

@ 29000m = 29 km @ 8kg 60g = 8060 g
dt800kg = 9800 kg @ Ikm Im = 1001 m
@ 500km =| 500000 m @ 1002m = Il km 2 m

@ 9kg 360g = 9360 g @ 1040kg = | t 40 kg




